R BT IRIZNIR —
1. (20 43) (1). % B, C R",

Au=|x|*>=1, in B,

ey
u=20, on 0B,
R 1(0).
(2). & Q c R" ZH FOti X,
rAu =f, inQf
1u=2g, on 0€2 (2)
(U= o(l), |x] » o
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2. 20 (). Au+ZAu; +u*=0,inR", n>2,u>0,1<a< n_il’ A N
B, KiFu=0.
(Hint: >R H Serrin 17, e n" 715, XH n S#BTRELL)
(2). ¥ Q cR" REHIK, 0Q € C! # p> 22 RIE:
Au+uP =0, inQ
(3)
u=>0, on 082
M2 R u € C3(Q) N CHQ), u> 0 RIFTE.
(Hint: 7€ x - Vu -89
3. (30 7)) W

Au=f, in Q

4)
du _
5, tu=g on 02

(a). ﬁiﬁE |U|Loo(Q) < C(dlam(Q)9 |f|L°°a |g|L°°)
(b). KIE: |Dul ooy < C(Q', Q, f, 8),VQ' cC Q.
(¢). KiE:| Dul jo () < C(Q, f, &)
4. (10 4 % Q ¢ R? A FMXI, u> 0,4 > 052
Au+Aju=0, inQ

@)
u=20, on 0Q2



1 v =—logu ", KIF D?v IR H 3L
5. (20 47) W Au= f, X R > 1A FHIAER A

/ |Dul?> dx < C, [ @+ f?) dx;
BRr Bg

2

/ |ID*u?dx < C, [ @+ %) dx.
BRr Bg

2

6. (10 4) E%1 Au=01in R", u > 0, 3RiF: sup |Dlogu| < %'
Br(0)

7. (109 B Q c RZ BHRKXI, #1ue C@nCQ L X A+
| Du|®)8;; — uju;lu;; = 0, W) ¢ = | Dul® {5 KAELED T 0Q K5,



